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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1.

6.

WA # GUT & IW F @iy 7, aiien Jaiell W VS o9 % @ed wd ygi w1 vl
Hifg) fFe @ o 78 TEeh Hgfe % IR B UMW FA F IR 87 (IW 150 vl 7 i)
Examine the pattern and trend of public expenditure on social services in the

post-reforms period in India. To what extent this has been in consonance with
achieving the objective of inclusive growth? (Answer in 150 words)

R § fiR 3= @ gEedifa % wro w0 87 5@ van 6 ggehif F faha w0 3 ame e ame
# wifgw Aifa F wwEsicar w oo i) (IW 150 =31 A i)

What are the causes of persistent high food inflation in India? Comment on the
effectiveness of the monetary policy of the RBI to control this type of inflation.
(Answer in 150 words)

W F FB W A N QU F a%a FEiead F O IeEr srs @ 97 we fif

(3| 150 w=a1 A difs)
What were the factors responsible for the successful implementation of land reforms
in some parts of the country? Elaborate. (Answer in 150 words)

WA # @R T§ i gian B gt e % for 2R sEe f ffiee ) quwme
(IW 150 =21 § )

Explain the role of millets for ensuring health and nutritional security in India.
(Answer in 150 words)

St il % ded # ifes duar ARt 1 adam e whew 70 27 gaft Wi ¥ ofaa =3
F Ama g § g WE W R, TR Of haad 39 W @ suriem R omn j) @ o
IR % FRON B TWE FHf) (IR 150 =1t & fifsm)

What is the present world scenario of intellectual property rights with respect to life

materials? Although, India is second in the world to file patents, still only a few have

been commercialized. Explain the reasons behind this less commercialization.
(Answer in 150 words)

TSHF T T 9Y-F T8 4 & o Fa-oft fenfeft omqamd s @ ®7 30 -3 & ein
F-F1 € 87 9 FH-8 Rads weared & S 8 whem B Fely 9 7 o g8 oiwdw s
gfaa @@ S e (3® 150 =t § i)
What is the technology being employed for electronic toll collection on highways?
What are its advantages and limitations? What are the proposed changes that will
make this process seamless? Would this transition carry any potential hazards?

(Answer in 150 words)

ia # 7 F o a1 efE I uF wewyy e e ¥ @ wwen ¥ foe % fag fafm
I M AR 38 dey § wEH gga ) off w= fifsw (IW 150 =2t T i)
Industrial pollution of river water is a significant environmental issue in India.

Discuss the various mitigation measures to deal with this problem and also the
government’s initiatives in this regard. (Answer in 150 words)
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8.

10.

11.

12.

13.

14.

15,

WA A ygE aiEeme ¥ e gafaetn v s (o ame wo) whomdt H) i W &
T R-wEh @red R FRiwd wn o P §7 wft seeg Rt gl SR TR
s (IW 150 vt & Aifsre)
What role do environmental NGOs and activists play in influencing Environmental

Impact Assessment (EIA) outcomes for major projects in India? Cite four examples
with all important details. (Answer in 150 words)

TR, o 1ehi- ameipae weql 3w & foh wbR T TR @R w9 § IR SR | - s
¥ fod ¥ for wgfva sordt w ggma At (M 150 w=at & i)

Explain how narco-terrorism has emerged as a serious threat across the country.
Suggest suitable measures to counter narco-terrorism. (Answer in 150 words)

feforest =aftbm 31 wem afufimm, 2023 ¥ wof au yg@ Rdwarst w1 @i iR
(IW 150 wi=zi # difsw)

Describe the context and salient features of the Digital Personal Data Protection Act,
2023. (Answer in 150 words)

RA & 9 SR GRt F e #, TR o st o 3 At A fedn A 3g ey §, onf
& F W gE R7 (IW 250 =21 ¥ difom)
Discuss the merits and demerits of the four ‘Labour Codes’ in the context of labour

market reforms in India. What has been the progress so far in this regard?
(Answer in 250 words)

WRA # &l 91 FAfRfad F fawn A w0 smavawa 37 T8 we ¥, w@R 6 Iew’ A a0
W Iuetergl i w=i Hifm) (I| 250 v=2i § difvm)

What is the need for expanding the regional air connectivity in India? In this
context, discuss the government’s UDAN Scheme and its achievements.
(Answer in 250 words)

T & Al § wwedra firard someht % an s v it #7 gee e wee ¥ R weR T
AT Y U} H F4R) (IW 250 wr=dt & Gifvw)
What are the major challenges faced by Indian irrigation system in recent times?

State the measures taken by the government for efficient irrigation management.
(Answer in 250 words)

A # i ot & R & fog gl sier (TR wiE) ¥ Tew 9 we fiftn) Tw = S
weru @ g gfeal = §7 fadem i (3| 250 wr=t & Hifsm)
Elucidate the importance of buffer stocks for stabilizing agricultural prices in India.

What are the challenges associated with the storage of buffer stock? Discuss.
(Answer in 250 words)

fau =1 @ w@ wia M3 T N srafts = =1 G w6 UE W@ ) @ aEe F aYE F0 %
ﬁlﬁaﬁw—@éﬁmaﬂ%ﬁ@ﬁﬁﬁaaﬁﬁ%wgﬂ@zﬁmeﬁaﬁg#@nﬁ
== #ifg) (3| 250 vt # difen)
The world is facing an acute shortage of clean and safe freshwater. What are the

alternative technologies which can solve this crisis? Briefly discuss any three such
technologies citing their key merits and demerits. (Answer in 250 words)
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16. HE ¥ ¥ TR AT ¥ B 27 w1 @ou fen awafas ¥ W fww W@ R & fo wn
worffeat fawfm 6 18 87 (IW 250 W1 & difTY)

What are asteroids? How real is the threat of them causing extinction of life? What
strategies have been developed to prevent such a catastrophe?

(Answer in 250 words) 15

17. = Y = 27 T FA Ruite B s 27 o vfide 2R ¥ fafim ot @ e R s
Sfaw = ¥ fo ded 2 (2015-2030) ¥ Afiw @ w1 +ft sg@ A
(IW 250 T=A1 | difew)

What is disaster resilience? How is it determined? Describe various elements of a
resilience framework. Also mention the global targets of Sendai Framework for
Disaster Risk Reduction (2015-2030). (Answer in 250 words) 15

18. Wl &6t § 9g T I g8 Sean-fa e ¥ @ a F Fol i ws fifve) fed @ g
#, wra & e W A wgE a6 A frimaed w1 g@ Ffv) wra H 37 A s efst @ ok
e Fre k@ W Tt § Foen 21 (I 250 w=E! § difor)

Flooding in urban areas is an emerging climate-induced disaster. Discuss the
causes of this disaster. Mention the features of two such major floods in the last two
decades in India. Describe the policies and frameworks in India that aim at tackling

such floods. (Answer in 250 words) 15

19. WRA # 7 @ qiEE % @Y U duwteE e g d e s faeme 3 #) @ F
- Rt T e gem-gARE # whem hif) den g fawm wEEa (fe To Ho dlo) Fu
o SR R gE (Hflo 3o We) T * siarid ¢ &t § fry IR A faemra-wEl # o
IfgRaa Hifs) (3 250 w2t ¥ difom)

India has a long and troubled border with China and Pakistan fraught with
contentious issues. Examine the conflicting issues and security challenges along
the border. Also give out the development being undertaken in these areas under
the Border Area Development Programme (BADP) and Border Infrastructure and

Management (BIM) Scheme. (Answer in 250 words) 15

20. W e T MR (GIfEEN) dim Fand ade g T §) dee ffen F gen R
2 W @ g fftm Tl w39 A T E? TE e B defn R g o e I
= +ff gz df) (3 250 W=t # difs)
Social media and encrypting messaging services pose a serious security challenge.

What measures have been adopted at various levels to address the security
implications of social media? Also suggest any other remedies to address the

problem. (Answer in 250 words) 15

* kK
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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.

SKYC-G-GST/36 1 | P T.O.



stlo Lo e & fafmio &m0 frlwR wo e we {o I g e 39 anfiw wafy F g
HEWF 2| W FaY § WHR H F0qw At | oo Hiftm (IW 150 w=a1 # difsm)

Faster economic growth requires increased share of the manufacturing sector in
GDP, particularly of MSMEs. Comment on the present policies of the Government in

this regard. (Answer in 150 words)
. VR Asferaeen # fefafeam #i fufy ®=n %7 @ deu & o areh wwensi w1 wham Hifvw v
gurR F forg ggma dfsg) (IM 150 w=dt # Fifsm)
What is the status of digitalization in the Indian economy? Examine the problems
faced in this regard and suggest improvements. (Answer in 150 words)
N 3R % IR wd fawoe # {-awde frael 6 e wen T s 27 9 wwemEn
(3W 150 w==1 ¥ ifsm)
How does e-Technology help farmers in production and marketing of agricultural
produce? Explain it. (Answer in 150 words)
qRG H o IR % ReF T I F w0 wfiE qreet F sita, qft e w gy @ hf
F TF 9E GYR T S Gl €, fd=m it (3 150 wi=at # difSw)

State the objectives and measures of land reforms in India. Discuss how land ceiling
policy on landholding can be considered as an effective reform under economic
criteria. (Answer in 150 words)

Fm gf& (T 3go) A @uRen w1 wR=g A To Ao fRifma Fem o 3 wee wia 27
39 TR H1 F To ARe & IFM F Al A o # #E wau wegw =9 5

(IW 150 vr=at # difsm)
Introduce the concept of Artificial Intelligence (Al). How does Al help clinical

diagnosis? Do you perceive any threat to privacy of the individual in the use of
Al in healthcare? (Answer in 150 words)

¥ faftm wli=t w == Hifs @ gersid @ v @ @ $ B 0 3 IR § vee W T 2
(IW 150 vr=at #§ Af¥e)

Discuss several ways in which microorganisms can help in meeting the current fuel
shortage. (Answer in 150 words)

. =iy} ) Ty TR wewd Ad €, iy w9 ¥ R A v, fmd whmeey sha it 9uf =
9 THEE B B &G B favaw & fafim Fwrol @ favewn S =2 afd i Rieemeit ¥ @
e AR (IW 150 w=ai 7 difsm)

Dam failures are always catastrophic, especially on the downstream side, resulting
in a colossal loss of life and property. Analyze the various causes of dam failures.

Give two examples of large dam failures. (Answer in 150 words)
et T 1 R7 W) TR T W g wE w #7 wma 38 3w ¥ e e we A a9 g
favm =9 @ wfEnE 27 (3 150 w=at # i)

What is oil pollution? What are its impacts on the marine ecosystem? In what way is
oil pollution particularly harmful for a country like India?
(Answer in 150 words)
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10.

11.

12.

13.

14,

15.

SATqhATE-guTfad & # SegerE #1 faam awe 0 1 Re ok R’ sten & s w2 )
T Heg § 90 3R v F el wmae F 9 F w9 wER g S 7 Rt w s i)
(IW 150 w=a1 # ifv)
Winning of ‘Hearts and Minds’ in terrorism-affected areas is an essential step in
restoring the trust of the population. Discuss the measures adopted by the

Government in this respect as part of the conflict resolution in Jammu and
Kashmir. (Answer in 150 words)

i IR & T g EfEn /e -anes, g s AeafEa w6 Tt (go o o) A ez A wiamn
S gl g % forg iR @@ R @ @@ A fwed F e fhg o1 @ vt w Rueh it
(IM 150 o= & )
The use of unmanned aerial vehicles (UAVs) by our adversaries across the borders
to ferry arms/ammunitions, drugs, etc., is a serious threat to the internal security.
Comment on the measures being taken to tackle this threat.
(Answer in 150 words)

A H Herld S RS W § G 21 wra # Remd A e F e o T geh @
e Ay ik gur * gam 4 (3| 250 w=st # i)

Most of the unemployment in India is structural in nature. Examine the
methodology adopted to compute unemployment in the country and suggest

improvements. (Answer in 250 words)
aE s’ R ghiga ademmen’ % i s fifm) afen suReRe % 0 e
Feferaeen i qfiwa Adgedr § ¥ @1 1 wwa 27 (I 250 v=t 7 Hifvw)

Distinguish between f‘care economy’ and ‘monetized economy’. How can care
economy be brought into monetized economy through women empowerment?
(Answer in 250 words)

aud ¥ wd R el A ofads ¥ wef §, wra § wew wew (F#m 4ed) § gu aRad
= i | (I 250 W= # Afd)

Explain the changes in cropping pattern in India in the context of changes in
consumption pattern and marketing conditions. (Answer in 250 words)

W H F & H weH RS Al T o see wfed w0 §7 R =R e (ssge o
3lo) g Ja1e Ty FHfY wlewd) wdfta wE  framm Hifwg (I 250 wr=a1 # dif)
What are the direct and indirect subsidies provided to farm sector in India? Discuss

the issues raised by the World Trade Organization (WTO) in relation to agricultural
subsidies. (Answer in 250 words)

Tl FTE1 1 A R R A IS0 @ 9 @ R we Il A w0 w0 3 gafies T R
ARA FA E 3 IRIRE TE 9 aTed B gen § 3 w0 e o TeE = §

(IW 250 wi=7t & Hfsw)
The adoption of electric vehicles is rapidly growing worldwide. How do electric

vehicles contribute to reducing carbon emissions and what are the key benefits they
offer compared to traditional combustion engine vehicles?

(Answer in 250 words)
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16. WA ¥ die Sz e o ge w0 o @ Rl v ved  fem # aftre 7€ e s e e 2
3 78 w1 =) ofve T f @ R g St wafta faRe-am 6 Iaonfedl i wega i @i
fsem wrawTé SiaRE F3 F s wdw frem F R 3\ e F avia fif Rea e @
awd gagu # e R (3| 250 wi=d! # difsm)

What is the main task of India’s third moon mission which could not be achieved in
its earlier mission? List the countries that have achieved this task. Introduce the
subsystems in the spacecraft launched and explain the role of the Virtual Launch
Control Centre’ at the Vikram Sarabhai Space Centre which contributed to the

successful launch from Sriharikota. (Answer in 250 words) 15
17. YRd SR 3R YE T T g A dew wrmE ® o fif ofk e we 7
SRig wew $ a I Fo mpE % am fafew) (I 250 W=t # ifsrg)

Comment on the National Wetland Conservation Programme initiated by the
Government of India and name a few India’s wetlands of international importance
included in the Ramsar Sites. (Answer in 250 words) 15

18. erarg TREd W SFR-THR Ta (3mgo Hto o o) A Afi wYE-wR # 2100 $&= T T TH
fher $1 gfs 1 qEigER wn ¥ e wewER 8 # v ofv g A A e w0 owE Eme
(3T 250 w=at # i)

The Intergovernmental Panel on Climate Change (IPCC) has predicted a global sea
level rise of about one metre by AD 2100. What would be its impact in India and the

other countries in the Indian Ocean region? (Answer in 250 words) 15
19. WRA TR AW B S FEh Ak g gt = 7 W @ o gEEen w9 % fae
¥ giem in St i i e SR (3W 250 =t § Aifvm)

What are the internal security challenges being faced by India? Give out the role of
Central Intelligence and Investigative Agencies tasked to counter such threats.
(Answer in 250 words) 15

20. ¥RA T AR F fwoEy ¥ W@ wa oK @ A B FAdh F e By s @ qawe) @
e d, T @ A T R A W 2022 # g ‘wwwaw F R W T (Wo Wo Tho Fo)’
Wi ¥ @eg v | A off fadsm Fifw (3| 250 w=at 7 Aifsm)
Give out the major sources of terror funding in India and the efforts being made to
curtail these sources. In the light of this, also discuss the aim and objective of the

‘No Money for Terror (NMFT)’ Conference recently held at New Delhi in November
2022. (Answer in 250 words) 15

* %k
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L SERVICES (AN EXANA2

CRNA-X-GST
A= 31egad / GENERAL STUDIES
- w9a-ux 111/ Paper 111
fyffa a7 : @7 92 : Sifermaq 3% : 250
Time Allowed : Three Hours Maximum Marks : 250
9w weaeedt fav srev

FuaT Tyt & I 37 @ g [EAfora N S0 H SAgds g
o aiw w7 e 10 & T Rt st sitt 3171 A 99 gV E |

a¥t o7 37l & |

TR 59 /4T % forg [ 3% 39 a7y T &

M%_mwmmﬁ%@aﬁw@qma@amm-ﬁﬁﬁmwa 37k 39 eI FT
e P TA-GE-IH (F.H.0) JEH F FE-y8 W [ T W B T Y | Jwa e &
SfAfE =1 e 7TeTd 4 1@ MY I T HIE 3 e Her |

wv7 G 1 @ 10 7% &7 I 150 VIegi 7 a7 997 G&qr 11 & 20 % &7 I 250 wregi 7 g |
yol & g wieg T #1 s 7 0Ew |
Y9G53R (7. H1.0.) JawT & @it 918 T FIE 753 379aT §88 F 9T F1 qoid: HE AT /
Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

I gt afEeEe # R Fo R (R B e
 ?9RA 8 o Ryl & Gfdwm § R R aiea  yfie w1 ol S |
(150 w1551 # 3w i)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

T IR AITGRYT & F=iiad GHEY e g9 & 2 urd o anhs fem 6
i % fere fereftar wmmas % maw & Seo@ HfT | (150 wedt F e A

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India.

(Answer in 150 words)

ud d gt faa yomeft (. um.) F wp it ®= # 2 @ few weR
T AT GRS ST S @A 8 2 (150 wedl § I i)

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

WA H WTe YHEhH JENT o e 3R waw # gl avi Hifg |
(150 wr=g} # e i)

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

hﬁmmﬁm%ﬁwﬁ#ﬁmgﬁﬁﬁ@éﬂéﬁ | I8
T3 Aifoat - " 3 I G 3 F-F FEH IST AN IFEAEF § 2
(150 w3t o ¥R i)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

geeft hl gag W ufd ad @<t " § aweafa gerd, dq@w, WA o @ | 9
dgeE T wrpfoes sfeaneil @ Tonar @ fomd R a7 s Taaarss, s@ qn
Y g IcuTel A gitafdd & Sman @ 2 (150 wedi § I Afm)

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Qi11.

T fmion, g 3t I R e 34 gU Blerhiea W i e ==
HiRT | 1999 F M Werwicl 1 THT | (150 Ieai § I L)

Discuss in detail the photochemical smog emphasizing its formation, effects

and mitigation. Explain the 1999 Gothenburg Protocol.
(Answer in 150 words)

TR ITHEET % Hed § a1ge Bed i fRarafy SR weAT i THImEe | A F
Iaren 1 ==l Hifse | (150 wsat | I i)

Explain the mechanism and occurrence of cloudburst in the context of the

Indian subcontinent. Discuss two recent examples. (Answer in 150 words)

TfEa A9Uet % WHR H F= Hif | i e A 'R W dg gfed
Y 3R STAHATEdl % o= GaHl 1 9ui hifoe | (150 weat # I fifw)
Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels.

(Answer in 150 words)

yra #§ e gean gl @ @ 2wl geen § gun % fow A wree,
dIhT 3R ufrarees qgal i faeemr hifw | (150 wsgi | I difw)
What are the maritime security challenges in India ? Discuss the

organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words)

“gret & Tt o1 anfifen fasm o Ieareawar # gfg F Fror Gva g R 17 59 HeH
*! gwesy | W@ Hafy wiey # sty HIe oo Sergswar & wEsitan fee fam
Jrferes TR 3cafel § @erh &1 | (250 wrsei § 3 g

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will
lead to creation of more jobs without compromising labour productivity.

(Answer in 250 words)
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le.wmﬁwﬁmam:ﬁmfammmsomm,aﬁzoaow

Q13.

Ql14.

Q15.

Q16.

TefiRTiiT ol @ g AW 2 3R I F e B fag Fifve | e S @
Afeel g2 38 TR Foil wral § @ SR IRvE 9fd § e YR wEEe
BN ? WHHATSY | (250 weal # IeR )

Do you think India will meet 50 percent of its energy needs from renewable

energy by 2030 ? Justify your answer. How will the shift of subsidies from
fossil fuels to renewables help achieve the above objective ? Explain.

(Answer in 250 words)

YRA H Hi IR % fawm i FedgEt o sige e § ger s w0
2?7 (250 wsgi § I &) '

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words)

qufehd HY ot 7 8 2 9RG # SR ik Hiwia fraE % o 72 $8 anees @
el 8 ? (250 W | 3w i)

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words)

25 fewrat, 2021 1 Bl T S 99 siafer Sefiehin o § wurErd #§ = gen 2 |
e U BN H o fadivard § S 30 3o vee % oidhe defeRd @ i
st 8§ ? 39 fivm % gew g wa § 2w oty % fow sk gwiia @y A
THhd & ? (250 wEdl H IR o)

Launched on 25! December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this

mission ? What potential benefits does it hold for the human race ?
(Answer in 250 words)

At T &1 smure fagia w1 2 2 AR AR B ww § 2 #ife-190 AE ¥
fomior 2q wncdta defm Fafast 3 Faawn ggfat s § 2

(250 wregi H IR i)
What is the basic principle behind vaccine development ? How do vaccines
work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words)
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Q17.

Q18.

Q19.

Q20.

e i (3fvas am) it w=l Fifve it Afvas Jaarg W sEE gHEl H
oot HIfAU | T8 Nehicd, 1997 & Tl § TArEed ST T HROT s aTett
ey NGl & T ! H9 HE F foru Frmo 3gr w5 awsmse |

(250 =i # I i)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

d ¥ a9 IS & HRON U9 IHTE I GHIATT | WAl H GhEa HH & o
IqTeY AT TEEH dehAleh 9T & 2 (250 Wsal § 3w gifee)
Explain the causes and effects of coastal erosion in India. What are the
available coastal management techniques for combating the hazard ?

(Answer in 250 words)

TTgeR Fan & fafvm o @0 8 2 wret guan i gAfadl e | w@d g adian
ifs fop wra 3 forg 8¢ 7% v S TP AgeR gian WHIfd Shadigesh faehtdd
# 7 | (260 TGl § IW )

What are the different elements of cyber security ? Keeping in view the

challenges in cyber security, examine the extent to which India has
successfully developed a comprehensive National Cyber Security Strategy.

(Answer in 250 words)

THITATE Teh WHI, 3T 3R faerrarcaes a1 8 S ush feaeh =it gean @
% ¥ W Yohe BIA1 2 | 39 FeH H IWA BU el I ==l HIfQ W TaHAATg & @R
¥ fuea it ageata wrtfa 1 gema 4T | (250 w=g) § I i)

Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism.

(Answer in 250 words)
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CS (Main) Exam,2021 HXSGGST

i 31gg94 / GENERAL STUDIES
994-uA 111/ Paper 111

affa a7 : @7 a2 ferpan 3% : 250
Time Allowed : Three Hours Maximum Marks : 250

ToA-UR wvaselt favie srgew
FUAT TA1 & I 37 B G AT Tk A3V &1 G E UG
o &g 5w Iog g & 5t o=t 3k sidt @ 7 89 50 8
&%t w7 Sty & |
Y% F9/ 91T & Ior0 [ 7% 399 amd Ro 1 §

Y] & I 3] Wit qreaq 4 for@ 5 GiEe (e 3g@ e Fav-uF # ar mar 8, s 3 ey @7
T IPE Y-HE-IH (. H1.0.) JRaH F JE-y8 | [ T W I @ Sk | gifiga areem &
AR 7= fd1 71eam § for@ 7 3T W HIg 37 7@ fei /|

To4 GCAT1 @ 10 7% 1 3T 150 91551 7 797 T97 @&qr 11 & 20 7% &7 37250 9151 7 Fiforg |
o9l 7 3T vieg daT F e 7 3% |
Yo -HE-IH (7. 41.0.) Jiae1 § @il 818 77 FI¥ 783 37947 §53 & YT 1 qula: e i |
Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

WRd <l whe e 3arg () & ad 2015 F qd o ad 2015 % uvEE
uftere faft & s it saren Hifvw | (150 =2 # 3 €fm)

Explain the difference between computing methodology of India’s Gross
Domestic Product (GDP) before the year 2015 and after the year 2015.

(Answer in 150 words)

ot a1 q91 TS 99le o Hed I T U | 3 gF1 Swiel % Huee! @l
HE | (150 vegi § IR difo)

Distinguish between Capital Budget and Revenue Budget. Explain the
components of both these Budgets. (Answer in 150 words)

29 % FB W A g gurl 3 duia o oy feael f amifie-enfie feufy =
gaiA & fofu fopm gehR werran Y 8 2 (150 weei | I Efm)

How did land reforms in some parts of the country help to improve the
socio-economic conditions of marginal and small farmers ?

(Answer in 150 words)

WA & S §ehe o THTEH H, geu-fied &4 ol fora diwn as wrmes Enft 2
(150 vrsd} & 3w ifvm)

How and to what extent would micro-irrigation help in solving India’s water
crisis ? (Answer in 150 words)

S-400 a3 &N yoredl, fova § 36 www 3wy = foRelt woneht < qer # few
TR H dehehl €9 & U483 B ? (150 veal | I difore)

How is S-400 air defence system technically superior to any other system
presently available in the world ? (Answer in 150 words)

T, 2021 ° e | fova % Jare & Prer g@en d @ehd. 26 dyw
Sary Giedq FeH 3, sy i T8 gt e vEe # wieE T it |
IS dR Teaeq (1E.u8.U.) § 92 fomm vgeht 9 %a ez mm a1 2

(150 wrej # e difr)

Explain the purpose of the Green Grid Initiative launched at World Leaders
Summit of the COP26 UN Climate Change Conference in Glasgow in
November, 2021.

When was this idea first floated in the International Solar Alliance (ISA) ?
(Answer in 150 words)

HXS-G-GST £

10

10

10

10

10

10



Q7.

Q8.

Q9.

Q10.

Ql1l.

fova TRy @red (sseg.ua.ell.) gr B @ § S feer o wnfua fvae Ay
e fesnfacen (. sft.) % g famgadt @1 avfa hifs | fama 2005 % s@d 4,
3 fopm yohr i & 2 39 Genifea weehl 1 T = & fag, RUSE R RS
Fsn T foh aftaddi it smavasar 2 2 (150 &g | 3¢ i)

Describe the key points of the revised Global Air Quality Guidelines (AQGs)
recently released by the World Health Organisation (WHO). How are these
different from its last update in 2005 ? What changes in India’s National Clean
Air Programme are required to achieve these revised standards ?

(Answer in 150 words)

T HETd Hehel o fore wia <t Werar <t fad=mn Sifsie | fuset = geeel 9, wma
%ﬁﬁawﬁﬁwmma@mﬁ%mmﬁﬁwﬁ%m
9w | (150 wrsgi # I difw)

Discuss about the vulnerability of India to earthquake related hazards. Give

examples including the salient features of major disasters caused by
earthquakes in different parts of India during the last three decades.

(Answer in 150 words)

==t hifoe & foFa yr 3wt senfiferat o dvdieror ot wifegn & dem w@
2 | U 3 Al gl T Wt Sifen i gue § fued & fou fhu s
aret 39T i fodr & wHesT | (150 vsgi § 3w ifone)

Discuss how emerging technologies and globalisation contribute to money

laundering. Elaborate measures to tackle the problem of money laundering
both at national and international levels. (Answer in 150 words)

Wi I FIRF G H H F TE@d §U, HW-OR F FH ATl Wiga gl b 99
w1 favewo i | @y &, 7 ofcpa woedl F foeg wions sl i ==l
e | (150 wegi § 3 Fifsm)

Keeping in view India’s internal security, analyse the impact of cross-border

cyber attacks. Also discuss defensive measures against these sophisticated
attacks. (Answer in 150 words)

1 AT TEHd ¢ o IR Tferasyn I g1t & 0 V-3TR F GTecdH H1 I
foran 2 2 @ |fga 1o 3w A gfte hifs | (250 w8l § I EifS)

Do you agree that the Indian economy has recently experienced V-shaped
recovery ? Give reasons in support of your answer. (Answer in 250 words)
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Q12

Q13.

Q14.

Q15.

Q16.

Q17.

“Hrorat wd womash onfdes wafg & foru smanfie-sadwEan & fFew smevas 2 17
I gy & afdier J fag=m fifse | (250 wegi 9 I i)

“Investment in infrastructure is essential for more rapid and inclusive
economic growth.” Discuss in the light of India’s experience.
(Answer in 250 words)

g @ gean AfufrEm, 2013 6 geg faeward @@ g 2 @ gean faues 4 v
¥ 9@ qUT HUTU B G A § fHE THR FErEar H 7 ? (250 Weal H I Q)
What are the salient features of the National Food Security Act, 2013 ? How

has the Food Security Bill helped in eliminating hunger and malnutrition in
India ? (Answer in 250 words)

waa fafawar & aua diser gAfaat @ 2 2 3wt senfifrat waa fafaua & foo
foFm yhR 1wt yEM 8 ? (250 weai § I AIfIY)

What are the present challenges before crop diversification ? How do emerging
technologies provide an opportunity for crop diversification ?
(Answer in 250 words)

I A9-Senfiehl § sy qun fowm-araedt Juaferat = 2 2 A yafsEl @
& fadg a1 & 3™ ¥ 50 yr "erEes gt ? (250 wegi H 3w difa)

What are the research and developmental achievements in applied
biotechnology ? How will these achievements help to uplift the poorer sections
of the society ? (Answer in 250 words)

a4 2014 # sifees s § 190 GEPR T I T SATHETHI, HHT T AHHT H
1990 % <weh | et et 3. & enfashr & fow wem fomen man o | 3@ enfasw 3
A1 & e Sfiam = foha wepr wwnfaa ferm 2 2 (250 wsal ® 3w &)

The Nobel Prize in Physics of 2014 was jointly awarded to Akasaki, Amano and

Nakamura for the invention of Blue LEDs in 1990s. How has this invention
impacted the everyday life of human beings ? (Answer in 250 words)

I g FAaTg GRada eash aeq (3.09.05. 8. 5. ) % @i d. % 264 @
% Yq@ il 1 9 HIfT | 39 Fe § YRA g i TS JeHegan a4 @ ?
(250 Sreqt © I )
Describe the major outcomes of the 26t session of the Conference of the
Parties (COP) to the United Nations Framework Convention on Climate

Change (UNFCCC). What are the commitments made by India in this
conference ? (Answer in 250 words)
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Q18.

Q19.

Q20.

yeger & faftm #ron ot wwrat &1 avlq Aifve | o gEes ifen yeue

THifd o HEwYUl geehi 1 Iooig HIT | (250 weal # I i)

Describe the various causes and the effects of landslides. Mention the

important components of the National Landslide Risk Management Strategy.
(Answer in 250 words)

wRd s g & fow s o s rsy sl g wega sgammh
Al 1 faveivo hifSe | 37 denel w1 geben F F AU savas Ul &
== Fifw | (250 wsgi # I ifo)

Analyse the multidimensional challenges posed by external state and non-state

actors, to the internal security of India. Also discuss measures required to be
taken to combat these threats. (Answer in 250 words)

HAqHaTE h Afeaar 3 dierar, sah HRT, GGl a9 ARF TSI B favey

T | TGRS & TR H IYEH & (¢ IS T a1l 39T 1 ot goa A |
(250 SreqT # 3w dif)

Analyse the complexity and intensity of terrorism, its causes, linkages and

obnoxious nexus. Also suggest measures required to be taken to eradicate the
menace of terrorism. (Answer in 250 words)
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URC-G-GST
AT 378994 (W91 -9=5-111)

oY ; i gque aﬁwm:zsﬂ

Tv-u wraeeft o s
R 1 & g Fefufen flvl =) s arurics W)

T e R g € S R wE sidoh O § BY E
adft @ afEr ¥
& WH/N F R Praa oiw e Re e §

Wt % S 3d wiftrga wream # @ s ik, R s e A A e e 2, iR g e W e
IgE TA-FE-IW (Fo Hlo Qo) &l & gays W e v v fmn s =i witepa e % sififes e
et mem & for@ o I w A st @ e

T HE 1 ¥ 10 9% 1 IW 150 W A 941 Y W@ 11 ¥ 20 9 H IW 250 v & AR
w3 wee-dim # e & e
T-FE-3W YR A @refl B T HE U8 g 98 % Wi H guia: Fe g

GENERAL STUDIES (PAPER-III)

L’l‘ime Allowed : Three Hours ’ Maximum Marks : QSOJ

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1. guash d9fe @ daei fwm & aRie 3, Sfradtd) wd sradfd wrn % fawat it saren R
(IW 150 w1 # i)
Explain intra-generational and inter-generational issues of equity from the
perspective of inclusive growth and sustainable development.
(Answer in 150 words) 10
2. G "o Ho Jo (Sflo Tlo do) ) vhonfia R g e Pufe @ wmen A 3 FH-8
FF £, S TG T AT G Fo Ho Jo (Sfio Fo Ho) T WHR F W Uk W 77
(IW 150 WL § AfAe)
Define potential GDP and explain its determinants. What are the factors that have
been inhibiting India from realizing its potential GDP?
(Answer in 150 words) 10
3. wia # HR Il ¥ uiee @ fvom § ge aerd @ 87
(I 150 W=l § )
What are the main constraints in transport and marketing of agricultural produce
in India?
(Answer in 150 words) 10
4. 3 % @ yeERu & f ghiEl @ emm = § @ e F) e wOETh R F
e e A w1 T 7
(IW 150 w=Et # €iR)
What are the challenges and opportunities of food processing sector in the country?
How can income of the farmers be substantially increased by encouraging food
processing?
(Answer in 150 words) 10
5. MG § Y w1 aHd § o 7% @ &7 § H wes W@ e?
(IW 150 =1 A ifm)
What do you understand by nanotechnology and how is it helping in health sector?
(Answer in 150 words) 10
6. FTH TR haa § Teud a% HA 1o gen B REm-snuia heffed g FR & som gr weE
aReda = 87
(3| 150 W=t # difeg)
How is science interwoven deeply with our lives? What are the striking changes in
agriculture triggered off by the science-based technologies?
(Answer in 150 words) 10
7. wEiERe W 3AEER (3o 3o To) HfUEE, 2020 WY Wil o 3Mgo Yo IfuEEA1, 2006
¥ ¥ firm 27
(3W 150 ¥ & D)

How does the draft Environment Impact Assessment (EIA) Notification, 2020 differ
from the existing EIA Notification, 20067

(Answer in 150 words) 10

8. e WET U6 ST G g MR SR g vafda et i e ) vy B w7
(IW 150 w=a1 & difsw)

What are the salient features of the Jal Shakti Abhiyan launched by the
Government of India for water consefvation and water security?

(Answer in 150 words) 10

URC-G-GST/21 2




T

9. WW%%WWWW%W%WW@%WJ
(IR 150 wi=dt 3 i)

the menace.
(Answer in 150 words) 10

10. nwmmwaﬁmm@wwamm%wmﬁﬁm
Wmmmﬁmﬁamwﬁaﬁ%sﬂm:
(| 150 wi=t # i)
For effective border area management, discuss the steps required to be taken to
deny local support to militants and also suggest ways to manage favourable
perception among locals.
(Answer in 150 words) 10

11. wmﬁ@m%mﬁﬁ%%wﬁm#ﬁmmwﬁﬁﬁ%wﬁm,ﬁﬂ
R T WEW T T Bl frem ¥ gey Rarm IS (FATH TN=) IR w1 g R fvan

ST =R
(FW 250 w=a1 & difvg)
Explain the meaning of investment in an €économy in terms of capital formation.
Discuss the factors to be considered while designing a concession agreement

between a public entity and a private entity.
(Answer in 250 words) 15

12. 35 T ¥ W (A B afieR) siufim, 2017 % THER h =wE HY) FfiE-10 3 ¥
T @ a1 W @Ryl A (Sto o &o FUTA Fe) F wifia ik T G TrEt ) 3w
o 27

(3R 250 w=5t § i)
Explain the rationale behind the Goods and Services Tax (Compensation to States)
Act of 2017. How has COVID-19 impacted the GST compensation fund and created

new federal tensions?
(Answer in 250 words) 15

13. m-ﬂﬁmﬁaﬁmmﬁ%%ﬁm—@mmmﬂzﬁé?wm%wwmm
A Ty Y == 78 27

(W 250 w1=it § difsm)

What are the major factors responsible for making rice-wheat system a success?

In spite of this success how has this system become bane in India?
(Answer in 250 words) 15

14, ﬂﬁmmmwﬁﬁéﬁwmn%mmwmﬁaﬁmﬁgw%m@ml
(IW 250 7= & Aifvm)

Suggest measures to improve water storage and irrigation system to make its
judicious use under depleting scenario.

(Answer in 250 words) 15

URC-G-GST/21 3 IRT.E,




16.

17.

18.

19,

20.

aﬁﬁg—mnmﬂﬁ%samﬁa@wﬁmﬁ%nawﬁ,wwmmqﬁ%m
ﬁ@ﬁﬁﬂwﬁwmﬁ%m%mwm%wm%mﬁmﬁwaﬁ@aﬁ

(IW 250 W=l A €IfT)

COVID-19 pandemic has caused unprecedented devastation worldwide. However,

technological advancements are being availed readily to win over the crisis. Give an

account of how technology was sought to aid management of the pandemic.
(Answer in 250 words)

Wﬂﬁm?m%ﬁqﬂﬂgﬁ%mﬁﬁgﬁmmmﬁ%waﬁwaﬂhaﬁﬁmwwﬁwi
A AR R SEgd UE o R7
(3w 250 w1 | Af)

Describe the benefits of deriving electric energy from sunlight in contrast to the
conventional energy generation. What are the initiatives offered by our Government
for this purpose?

(Answer in 250 words)

I TR S A R T T wes a1 FEsEA (We Hie o dlo) 4 wg@ Fordiward = &7
(3R 250 w21 & dif)

What are the key features of the National Clean Air Programme (NCAP) initiated by
the Government of India?
(Answer in 250 words)

mwmﬁﬁaﬁﬁmmm%m@mmmmmmﬁwmﬁ
A= i
(3| 250 wi=1 A @f)

Discuss the recent measures initiated in disaster management by the Government
of India departing from the earlier reactive approach.
(Answer in 250 words)

m%@mﬁmﬁw%ﬁmw%?umﬁaéﬂﬁﬁmﬁ%mmm,m
TR T G a1 e amaiet s e
(IW 250 =R H i)

What are the determinants of left-wing extremism in Eastern part of India? What
strategy should Government of India, civil administration and security forces adopt
to cqunter the threat in the affected areas?

(Answer in 250 words)

et g e aun Freem Y wfa =R, dhee iR wftrea Hat 9 dm-a ST
ﬁ:ﬁwaﬁﬁmﬁ&a@maﬁmwﬂzﬁﬁﬁwﬁﬁa@mﬁﬁﬁm%ﬁﬁm
(I 250 w=at & Af)
Analyze internal security threats and transborder crimes along Myanmar,
Bangladesh and Pakistan borders including Line of Control (LoC). Also discuss the
role played by various security forces in this regard.
(Answer in 250 words)

* Kk Kk
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CS (Mal) Beam 2010

SDF-G-GST
AW A (T91-9A-111)

94 ; i g2 siftrham 37 : 250

TYA-U= weEst e sEew
(I 3| ¥ @@ Fefafan & 1 Fen qEuriEs b€)
Tai w| e g g S Rl we st G A e R
asft yA a2
% W /am F g fraa o e e fg g F)

oAl % v 3e Wit mem & Rl s sk, Frew 9@ s waw-w J e e R, 3 T| e e
3@ TE-HE-3W (Fo o Vo) YR ¥ guys ® Affe wr | fF s =iftw) witera mream & sfafe =
et mem 3 fo@ T I W FE 3w T e

U @ 1 A 10 7% F IW 150 T § a9 WA g@n 11 q 20 7% F IW 250 TR F G|
el § 3 ve-d| # e ¥ @)
T-TR-IW g § @l 813 T F1E I8 Jua 98 F 9T F P R 2

GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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: £

H ATEE F H AR N wwa § a5 @ FaO =W (o o FHo) F wifea iy v #) wwa §
Ieg 2017 ¥ fraf=a sfo wao Ho % tema Fifkae] w o Rooft Hifvm)
(IW 150 w1 | i)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words)

1AM W A A Hend § 6 wwe R 3R (Sfte Fo do) Fi wurht wgfe qwn frm grrehifs &
FRO A Aderaen =) fufa § R7 o 9wl % wwedw § #ww dfn

(IM 150 wI=at # <ifom)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.
(Answer in 150 words)

THFG B TR (o Tho o) FRE WM 9% FM I 1 wuRa Y ¥ weww 27
(FW 150 wr=a1 7 difsm)

How far is Integrated Farming System (IFS) helpful in sustaining agricultural
production? (Answer in 150 words)

a-wiataa &F ¥ F Icaed ¥ gfg w9 8§ e Ja-fvee o % v | afaar @

EAiE (IW 150 w=a1 # Hifsm)
Elaborate the impact of National Watershed Project in increasing agricultural
production from water-stressed areas. (Answer in 150 words)

Wt ST R FR-fagm F &9 § FHe: ' o fAddtEn o e We wo wiiiyA & deE |
wRa i fFe yER @ gdEn an? (I® 150 w=at # difsm)

How was India benefitted from the contributions of Sir M. Visvesvaraya and
Dr. M. S. Swaminathan in the fields of water engineering and agricultural science
respectively? (Answer in 150 words)

Id F AU WA F HaRE F WW FA H T Qe ¢ e TR iy wEEn 1 38 R uen

o ggETi? (3W 150 %=t A difs)
What is India’s plan to have its own space station and how will it benefit our space
programme? (Answer in 150 words)

T 4Te] @, 9T 98 A F A1 33 B, TR W F qe w98 @l § F OF 2| R a2
TR R A @ % IWE i, e [@mwwn ® g g, fwemn fitig)
(IW 150 =1 § 4ifsm)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words)
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10.

11,

12.

13.

14.

e J9E1 R A % T 3% @@ #) gfonfia w0 F fu Y o soavgs a9 ) e
% fa S #1 fhe ver 3R fe-fe ol & g afa-feo fran 1 g% 27 el ¥ e 3
Yo & fafve vl = == fifsg) (IW 150 wr=at # i)

Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

. W S i H - WIS oA @ e EeAl #1 geEal vgen § qf-3aR

FEFAI (3o o Tago) I T M 1 Fg 99 7 B | Ivewd (aEd) waifa @51 sasard
ISl 1 GeEdl qgeEn 7 -39 FEEais g fad s @ e # oleo B gfi-aei
FRFAA % 99E F Fewfaa F0 F st 6 ==t fifg (FW 150 vt & dfer)

The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir brought into focus the
role of over-ground workers (OGWs) in assisting terrorist organizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. Discuss measures to neutralize influence of OGWs.

(Answer in 150 words)

Trgeem afEis #=0 27 wE fifn B ywa § e sl B fEfa 53§ 9z fee veR swErt

B T B (3W 150 W=t # i)
What is CyberDome Project? Explain how it can be useful in controlling internet
crimes in India. (Answer in 150 words)

72 @ fen wman @ for wwasht wafs A wrife =1 s cEay qurAfia i uwofa % st =@
m R s 21 3@ s W feueft Hifsm) (IW 250 wI=at & ifom)

It is argued that the strategy of inclusive growth is intended to meet the objectives of
inclusiveness and sustainability together. Comment on this statement.
(Answer in 250 words)

I-FariE Aty & <, awe fmin 3w 8, e =@ WEYR YR WER & G T g B
TaF T i (IW 250 vr=at § ifsre)

The public expenditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.
(Answer in 250 words)

e faqon yomet # sftF warE R g WHER T FA-FA Y GURTHS F9H I3 T E7

(I 250 wr=a1 7 <ifie)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

@ra YHER] & g & FHIYH g WRe SR g0 A9ETE T Ay ) afawn s fif

(IR 250 vr=a1 § difm)
Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words)

10

10

10

15

15

15

15
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15. el et ¥ g oA % TR T R % 0 A ST TR R T R A

(IW 250 w=a1 # dfw)
How is the Government of India protecting traditional knowledge of medicine from
patenting by pharmaceutical companies? (Answer in 250 words) 15

16. Fearl % e At #1390 FW F 00 9 Nafeh e TR e #ogswd 27
(IM 250 =21 ® difs)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words) 15

17. waia A Gt nifRfE 73 A 984 swa ) weq S oo i) s i 5 Rl @ *
Feigantt frm (FRYae SFeie) # AN a9 T 6 Hehed 1 H GHE1 FRE TR Heeg €|
(IW 250 w=ai # difsr)

Define the concept of carrying capacity of an ecosystem as relevant to an
environment. Explain how understanding this concept is vital while planning for
sustainable development of a region. (Answer in 250 words) 15

18. el off stqer weue TR § 3R AT YEen Hod Al #) sEEeHl % A #, T i fF dwe
I8 A fFE TER el el § weE HT| (IW 250 wr=2t | Aifvm)

Disaster preparedness is the first step in any disaster management process. Explain
how hazard zonation mapping will help disaster mitigation in the case of landslides.
(Answer in 250 words) 15

19. ¥ TER 3 v @ A fatufeg frmen (Rarw) sfufmm (go vo o To), 1967 3R
o 3Ro To HAMUFEN F MR % TN AFFAR-UH HrEl F woiegg e ¥ wwanfiER @
7 fafifeg framem (Famon) sfufem = By %0 % faer ok FRol | == Fd @99 F09H
gy vfEw F e #, ufEdd @ e i) (I 250 w=Ai | €ifsm)
Indian Government has recently strengthened the anti-terrorism laws by amending
the Unlawful Activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the

scope and reasons for opposing the UAPA by human rights organizations.
(Answer in 250 words) 15

20. 3or-gdi wra § 3o i @ % sman e, @ fogfafim & e e g g 3
2 ¥ad UF B YRA-FER W F ARGR qd9E 3§ R B areh fifim et @ adem i)
i & Fhiwd # wfedy w@ F FeH w == Hifg) (3@ 250 =i & difsre)

Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words) 15

L 4
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(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.

ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
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1. “agi (derEwa), Rvewda, gawfn o syfE s 0% o daofa (@2E) e el
(ude Fo o) T UW T F fom wfaed 217w § @ Haw @ g el w ol Hifi

(I| 150 w=1 7 Hifsm)

"Access to affordable, reliable, sustainable and modern energy is the sine qua non to
achieve Sustainable Development Goals (SDGs).” Comment on the progress made in
India in this regard. {Answer in 150 words) 10

2. FEm wwz, 2018-2019 # dfwferw ¢ wfvems w1 (wme o o Ho) am wwim famm =
(Fe 1o fio) F vy § gy A wEmpl wied w ool #ifa) (3w 150 wedt § Aifm)
Comment on the important changes introduced in respect of the Long-term Capital

Gains Tax (LCGT) and Dividend Distribution Tax (DDT) in the Union Budget
for 2018-2019, (Answer in 150 words) 10

3. =pem guds gen (wHe uge die) F WW N wuwa 7 EAy wudE ge v W e am e @

oy yER === w7 (3 150 v F Hifaw)
What do you mean by Minimum Support Price (MSP)? How will MSP rescue the
farmers from the low income trap? (Answer in 150 words) 10

4. e, wfeEm 3 wm vl ¥ agfd dwen wavs § geamed B e 6 e fifsg) 3 e
I dEn ) 56 o @w = 3 B (IW 150 w=Et & Hfdm)

Examine the role of supermarkets in supply chain management of fruits, vegetables
and food items. How do they eliminate number of intermediaries?
(Answer in 150 words) 10

5. Wo uaZ 14 414 g R M W -agaee S ¥ w6 W w= fifs o s o e

v fifadl F & 7 wifa o @ o (Im 150 w=t & Aifam)
Discuss the work of ‘Bose-Einstein Statistics' done by Prof. Satyendra Nath Bose
and show how it revolutionized the field of Physics. (Answer in 150 words) 10

6. T 3797 feu o1 @ % 3w Fat f Bme s = P =@ 3 wm-wn aad #8799
T A ufdn 3 w Ao @ e st A wiee v R e R @ e

(I 150 nadt & Hifem)

What are the impediments in disposing the huge quantities of discarded solid

wastes which are continuously being generated? How do we remove safely the toxic

wastes that have been accumulating in our habitable environment?
(Answer in 150 words) 10

7. s 0 27 smaqi A & wed § ‘gfgweryd Iwim’ ) vmm wEen ) we fifsm) wwa §
et wacll ¥ 2 e w1 3gm A (3 150 w=21 § Aifem)

What is wetland? Explain the Ramsar concept of ‘wise use’ in the context of wetland
conservation. Cite two examples of Ramsar sites from India.
(Answer in 150 words) 10

£HT-5-5557/40 2



8.

10.

11.

12,

13.

14,

fifem wra & v s v’ B Afw ow ¥ ohfefs o s T e B 87
(3 150 w=A1 § Afn)

Sikkim is the first ‘Organic State’ in India. What are the ecological and economical
benefits of Organic State? (Answer in 150 words)

@R sfies irar (e die do die) W W7 B M s e @ W q2F
€A F T gEE 9T F #98 F@ W w@ 3 e de §o o ® uF wlem aviv wega fiftrg si s
T I A % s fam (3w 150 vt & #ifam)
The China-Pakistan Economic Corridor (CPEC) is viewed as a cardinal subset of

China's larger ‘One Belt One Road’ initiative. Give a brief description of CPEC and
enumerate the reasons why India has distanced itself from the same.

(Answer in 150 words)

arqaef} s 8 s wgfa Bad 2 @ R, gig af of ¥ % 30w wm @ wafm &) andd
AR W wEA e # fale w0 % o we g & gfeem 9 dde d e g
(Im 150 waa] | Afe)

Left Wing Extremism (LWE) is showing a downward trend, but still affects many
parts of the country. Briefly explain the Government of India’s approach to counter
the challenges posed by LWE. (Answer in 7150 words)

wid B A smm g srpem By @ e R @ ¥ e amm g sEaEhe g @ e

v fim 87 (3m 250 w21 § difeng)
How are the principles followed by the NITI Aayog different from those followed by
the erstwhile Planning Commission in India? (Answer in 250 words)

fava samm & wavaEe i g e foee B gfead s f e afils e 9 e

wEr @ wafaa whf? (3m 250 =t § §ifyw)
How would the recent phenomena of protectionism and currency manipulations in
world trade affect macroeconomic stability of India? (Answer in 250 words)

AR EE ¥ TeEd, I e vd s § gfy w0 # mim avarE e (e tse wne) )
ufter 1 s fifs) gz feel f o wed § w aF Gva wen 7

(I 250 w=E1 # difam)
Assess the role of National Horticulture Mission (NHM) in boosting the production,

productivity and income of horticulture farms, How far has it succeeded in
increasing the income of farmers? (Answer in 250 words)

TR 9§ F8 e wael WA 3 v b 8 e wen gieds o R 87 W90 s (eedd) #
I A Iim woww w femgds e fifsm) (IW 250 v & Afm)
How has the emphasis on certain crops brought about changes in cropping patterns
in recent past? Elaborate the emphasis on millets production and consumption.

(Answer in 250 words)

10

10

10

15

15

15

15
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15. =0 & ? f vt 20 @ S D) % dr 3§ sreiuw wfeam 27 g0 wfeam 3 sl ¥ W

¥ ey adarn 7 (3R 250 wed # i)
Why is there so much activity in the field of biotechnology in our country? How has
this activity benefitted the field of biopharma? (Answer in 250 words) 15

16. el il wad g o F uiha § ¥ ana 1 SE AR FE S 1 BeEn wm ad @
wifte? Fifvdm w51 § wafun awl w@ v fi faEen fifie) (3% 250 w=ii 7 i)

With growing energy needs should India keep on expanding its nuclear energy
programme? Discuss the facts and fears associated with nuclear energy.
(Answer in 250 words) 15

17. wra # 93 fafaem feg wr sem-sem 98 ol 87 swefeme st witem & e A

a fafaum sfufmm, 2002 fFa =n Tws 27 (3W 250 n=d) § dif)
How does biodiversity vary in India? How is the Biological Diversity Act, 2002
helpful in conservation of flora and fauna? (Answer in 250 words) 15

18. wra # wmm wifam gHiEm (fle sme sme) ¥ forw “Herd wwwm sifum wpfw e
(2015-2030)" weefa % & qd va 30% wwaE @y fafm o ads iR gz wey
W Fria www, 2005° | e wwn fim R7 (3w 250 veEt | i)
Describe various measures taken in India for Disaster Risk Reduction (DRR) before

and after signing ‘Sendai Framework for DRR (2015-2030)'. How is this framework
different from ‘Hyogo Framework for Action, 20057 (Answer in 250 words) 15

19. frga (fefieree) g A @2d gu AWE SR & FRU TR A F WG qgA 7 W R
w2y dflo ure ofipen wivfa g A == 6 wa § waEE @ w F9-FEr Do ) o
e A gy dm 3 Bl oa B gen @ gafte g el B gt o enfal wn-en §7

(3% 250 v § Ao

Data security has assumed significant importance in the digitized world due to
rising cyber crimes. The Justice B. N. Srikrishna Committee Report addresses
issues rclated to data security. What, in your view, are the strengths and
weaknesses of the Report relating to protection of personal data in cyber space?
(Answer in 250 words) 15

20. FER F 3 FE4 7% I wEE I T v /oy ) e 3 g & qeis gen s 6
T e 21 Aeiel Tell % iy = vE 99w 391, IR WA R WeR el wee aeh S sdw
e ¥ & e 51 e fif @ R 8 0§ B e siaod s e A
anfee? (IW 250 w1 | difaw)
India’s proximity to two of the world’s biggest illicit opium-growing states has
enhanced her internal security concerns. Explain the linkages between drug
trafficking and other illicit activities such as gunrunning, money laundering and

human trafficking. What counter-measures should be taken to prevent the same?
(Answer in 250 words) 15
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Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH. |
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions, wherever specified, should be adhercd to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off. .
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mﬁ@lﬁmﬁq@%mﬁmmﬁmmmﬁﬁm%iwmﬂm%?
wafy W & ¥ FIH ¥ FRE IO € ? (IR 150 W=l H Q)

Among several factors for India’s potential growth, savings rate is the most effective one. Do
you agree ? What are the other factors available for growth potential ? (Answer in 150 words)
10

gw-wa Frafat % @ea F wm w7 ffmin Ses 6§ fawea & wro SdqwEg | gE-gam
Fratdt B sRen sfie sm-waw fafa § fog, SoEl @ gEEe | (ST 150 9= A )

Account for the failure of manufacturing sector in achieving the goal of labour-intensive

exports. Suggest measures for more labour-intensive rather than capital-intensive exports.
(Answer in 150 words) 10

ardfE-fo wrigr () sree 3 el wgeh Sushal & "Iead § WA # ferrreeEl %
fyerra w1 The S | 5 Geg F e % wae @ @ gttt € 2 (STR 150 ekl
A 3)

Examine the development- of Airports in India through joint ventures under Public-Private

Partnership (PPP) model. What are the challenges faced by the authorities in this regard ?
(Answer in 150 words) 10

TRe W T % =1 F H oS ol weRi < shfcrt # wwe g | 57 swifodl 7 wRa # st
g SR Er gRE A o YRR weTdT YeH A ? (ST 150 et 7 )
Explain various types of revolutions, took place in Agriculture after independence in India.

How these revolutions have helped in poverty alleviation and food security in India ? (Answer
in 150 words) : 10

ANTE AT DY WEHUT IS Y 369 WHRIRAT ¥ T FRON E ? WK WHAU THE IR
framl 6 TEhE-aRiE fRfy @ o S # fRe weR weTEeE el ? (S¥R 150 W=
i %) -

What are .the reasons for poor acceptance of cost-effective small processing unit? How the

food processing unit will be helpful to uplift the socio-economic status of poor farmers ?
(Answer in 150 words) 10 .

wgehifera, AT, afeurea Fifiar 9 TR < afeq glaega fafhedla qumell # TR oA
F fom wra & = Sl fafsan defa e s @ e | g8 § auig Sifore T wn i
IER T O £ AR o STERy @ gl § 96 9 o € 7 (STR 150 wesl H Q)

Stem cell therapy is gaining popularity in India to treat a wide variety of medical conditions
including Leukaemia, Thalassemia, damaged cornea and severe bums. Describe briefly what

stem cell therapy is and what advantages it has over other treatments ? (Answer in 150 words)
10



9

10.

1

12.

13,

WRA A =gad 9 W e fhyel afed ama-tfea safe el & semasor g%eaar ww
& 2, dfeq wwa-afed ke fasat & was =1 geq =81 51 | ama-afea safte fism
d™ A ° MR @ gueEreie dfed T wEEd 41 ® 7 GHIEEATcHS ULie
FIT | (ST 150 v=T # T)

India has achieved remarkable successes in unmanned space missions including the
Chandrayaan and Mars Orbitter Mission, but has not ventured into manned space missions.

What are the main obstacles to launching a manned space mission, both in terms of technology
and logistics ? Examine critically. (Answer in 150 words) 10

7% 9Igd N1 Ugel I 91 Gl © e AfGAT I SIgAT Ueh HeheddT oI, W] A 9% o A UH
JRdfaeRdl aqdl ST T8l § | Afedl &Y Sigd ¥ B 9T Wl W Ud 9FiEke] 91 3he auTad
TWE W ==t AR | (SR 150 w=R 7 T)

Not many years ago, river linking was a concept but it is becoming a reality in the country.

Discuss the advantages of river linking and its possible impact on the environment. (Answer in
150 words) - 10

mw%wﬁamﬁmﬁﬂﬁ%ﬁqmmaﬁﬁﬁ%ﬂﬁﬁm
(ST 150 v=a1 #H 2)

Discuss the potential threats of Cyber attack and the security framework to prevent it.
(Answer in 150 words) 10

AR H IW-YEIF Ye¥ Fgd o g ¥ fage-ufia R | @ Wy W ave fege @i
afesiifear & gea wrul &1 faemn fifse | (IR 150 =1 # T)

The North-East region of India has been infested with insurgency for a very long time. Analyze

the major reasons for the survival of armed insurgency in this region.(Answer in 150 words)
10

2017-18 & e =51 & 31T 29l H ¥ UF o9 WRA & TUKRA AT, FoAEE SHHT
IR 9ARA & @ FAT © | TH 29 H UH KA & o S51¢ 2017-18 A TSR gRT W
IurEl &1 fagemor Hifsa | (ST 250 =it # ©)

One of the intended objectives of the Union Budget 2017-18 1s to ‘-transform, energise and clean

India’. Analyse the measures proposed in the Budget 2017-18 to achieve the objective. (Answer
in 250 words) 15

“GURIR Fafy # geha-wie-gaarg (Sh.E.) 6t am wgfg # sienfie w@9fg  fresd
T | RO FqEy | SRIRE-AfG # g # fey  akedq snife d@afg ) @t sem
H el 9% 9¢F © ? (STR 250 a1 H 2)

“Industrial growth rate has lagged-behind in the overall growth of Gross-Domestic-Product

(GDP) in the post-reform period.” Give reasons. How far the recent changes in Industrial-Policy
are capable of increasing the industrial growth rate ? (Answer in 250 words) 7+8=15

‘gt Tty ¥ v e w0 € 7 IR I6 UER & Ggty YA o IWd el Tel 7

oo ifg @ waEsh w@gfy ¥ Som gaEd | (ST 250 v 7 2)
What are the salient features of ‘inclusive growth’ ? Has India been experiencing such a-growth
process ? Analyse and suggest measures for inclusive growth. (Answer in 250 words) 15

3 sth-g-gst




14.

15,

16.

17.

18.

W o & 4 ok M Bt o sow 3 g sr-m ger e ¥ 7 @ F weel @ 9o %
e 3, aer fafatiemor fra veR AgemR 2ar € 7 (IR 250 =i 7 )

What are the major reasons for declining rice and wheat yield in the cropping system ? How
crop diversification is helpful to stabilise thc yield of the crops in the system ? (Answer in
250 words) 15

aeTtiferar awa ufaey, w%%amaﬂtm&mfﬁa@r&raﬁ%amwﬁam
€ 7 @9 ok Hwia g F oo, wee o, wmaw wedE e ok e e @
wew ® ? (IR 250 V=i H Q)

How do subsidies affect the cropping pattern, crop diversity and economy of farmers ? What
is the significance of crop insurance, minimum support price and food processing for small and
marginal farmers ? (Answer in 250 words) 15

WA # Arfehia fawe otk wiRifieh & wafy ok faem =1 faaor wega difsw | ara 8
T woER RAFex FREHH & FT A § 7 (SR 250 YT H ) |

Give an account of the growth and development of nuclear science and technology in India.
What is the advantage of fast breeder reactor programme in India ? (Answer in 250 words)
15

“Srerarg i’ @afww%lwwmqﬁaﬂ?%mwumﬁam ? Serag
qRadd & gr Wéﬁ%ﬁﬂﬁaﬁtmﬁﬁqm%&mwﬁaaﬁ?(wzso reqt
A T)

‘Climate change’ is a global problem. How India will be affected by climate change ? How
Himalayan and coastal states of India will be affected by climate change ? (Answer in 250
words) 15

ﬁamzomﬁgaﬁwﬁ%aﬁazéaﬁﬁwﬁﬁm%ﬁ@ﬂﬁ%@%%ﬁqﬁﬁm
FRE T T Siad qa7 FAAFTET TR G4 9l Seh IHE! 9K F=1 hIVT | TA.SLUAT. &

- feam féat (2010) & Wy H, sﬁmﬁﬂmﬁ%ﬁﬂﬂﬁﬁ%ﬁaﬁmaﬂﬁﬁ%ﬁtﬁ

19

20.

sth-g-gst

& fofafy @1 avfa Hifg | (STR 250 a1 & ©)

On December 2004, tsunami brought havoc on fourteen countries including India. Discuss the
factors responsible for occurrence of tsunami and its effects on life and economy. In the light
of guidelines of NDMA (2010) describe the mechanisms for preparedness to reduce the risk
during such events. (Answer in 250 words) ' 15

WRA # g féan ush TR FFA R g gHET & ®9 W IW W ¥ | IUITH IeTed od
€4, 30 UR H fean & Frol v aRomt @ fasesm St | (SR 250 w=m # §)

Mob violence is emerging as a serious law and order problem in India. By giving suitable
examples, analyze the causes and consequences of such violence. (Answer in 250 words) 15

HraEaTg it Aerfaufa W e & ol ue iR A @ | 39 9 gy Hae @1 fagem
FH & o S - T gA © ? AR (Fiem % ugw "@id @ € 7 (I 250 ger
i 3)

The scourge of terrorism is a grave challenge to national security. What solutions do you

suggest to curb this growing menace ? What are the major sources of terrorist funding ?
(Answer in 250 words) 15
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one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.

A-CSC-O-65C/62 1 [BT O




fmfefaa wsht ug=i % s S| T&s 79 #1 IR AfERan 200 eEt § ) TeE T 99 2% 5 )

words. Each question carries equal marks.

1. Wé@mﬁéﬁm%ﬁwﬁwﬁ%ﬁ@m%ﬁmg@waﬁgﬁmﬁwﬁw
@ % fwm F Ty aifems 37

How globalization has led to the reduction of employment in the formal sector of the
Indian economy? Is increased informalization detrimental to the development of the
country?

2. 9Rd ¥ Hfgen wuiftherr & fog Siet s=ifen e § 1 widia wan & Stee awifén 6 #1 smavEsan @
feufa &7
Women empowerment in India needs gender budgeting. What are the requirements and
status of gender budgeting in the Indian context?

3. WHH Tt SH-41 A (Fo We o o AMo) serifedl F gea o # W % U sevas 21 w0
Y Wedd ¢ o 398 WA SHS & T4 dash & @rll 1 faxiE auEm gm? v W ol gfE % forg 9
WEgd hIfsTg |
Pradhan Mantri Jan-Dhan Yojana (PMJDY) is necessary for bringing unbanked to the

institutional finance fold. Do you agree with this for financial inclusion of the poorer
section of the Indian society? Give arguments to justify your opinion.

4, ‘W WU W w1 a9 87 9Rd % vRd fawm # et ywfiear # gl fife) w=n sad anfior qen
el WewrE H seiadt arft? Ho o 3TRo To T TRo Fo 3o slo Yo THo firwm & wef # “wé it &
o @ A Aifs
What are ‘Smart Cities’? Examine their relevance for urban development in India. Will it

increase rural-urban differences? Give arguments for ‘Smart Villages’ in the light of
PURA and RURBAN Mission.

5. WRdE demawan & fGwm # Tho o 3mgo i snavawa A g Hifw| swmefa qusia-saE o
rEfd® Tho Eo 3o & o =R F1 87 NG A gTEdfelsh Tho Eo Mo I 3M oL YurreHeh
FeH GIATEY |
Justify the need for FDI for the development of the Indian economy. Why there is gap

between MOUs signed and actual FDIs? Suggest remedial steps to be taken for
increasing actual FDIs in India.

6. 9RdE g A Qs foewm & Pfga ghfet, it sam ofv 9w smufe wmie @, w Rft it
T FAIGAl H G FRA 6 39 G|
Comment on the challenges for inclusive growth which include careless and useless

manpower in the Indian context. Suggest measures to be taken for facing these
challenges.
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10.

11.

12,

13.

14'

ST -3UANT SEAl A AT 1 GHEA &7 STl -39 <& HY e § gen =g i yfrew # avia fif)

Whal is water-use éfficiency? Describe the role of micro-irrigation in increasing the
water-use efficiency. 1242

Yeletelt o 27 Rifem FR-2601 0 @ wee TaRE  TEh e w1 sk B

What is allelopatliy? Discuss iLs role In major cropping systems of irrigated agriculture. 12%

i forpra # it guri A e A feem At awa & afy gurl f wwaa F R saeEr s
% fafga A

Discuss the role of land reforms in agricultural development. Identify the factors that
were responsible for the success of land reforms in India. 127

IR FHY h aFHfa f srfifemast w fofa % wesr, wow s 6 s f e Hifg ek
99 Hf wES @ AT (fo THo THo o d130) i g fEwasl w1 sg@ Hifvm)
Given the vulnerability of Indian agriculture to vagaries of nature, discuss the need for

crop insurance and bring out the salient features of the Pradhan Mantri Fasal Bima
Yojana (PMFBY). 12%

o iRl SN % Hd % wed # 3 adam fRfa oft ww fkg SR a9 @t @ fae @t
THIY IcEsich SATS (Telo 3o o) W UHY FHFA % Hew i fod=mn w8y § Hfvm)
Give an account of the current status and the targets to be achieved pertaining

to renewable energy sources in the country. Discuss in brief the importance of National
Programme on Light Emitting Diodes (LEDs). 12%

i fasm ofr dRfeh & &1 # wra fi rafRe) K w=t Hiw) @ defEh = owEn awa %
qIfsteR-anefe faswm #§ e wer wemes gon 27

Discuss India’s achievements in the field of Space Science and Technology. How the
application of this technology has helped India in its socio-economic development? 12%

AAforgen TRl (AReFErs) 210 waed f ygE NenfifE § A = 20 afigen fem ik
WRNTTR R 9Rd TR % e 6 wpe fmwanedl a9 39 & s & whn o 3o wam & &9 % avie
=i |

Why is nanotechnology one of the key technologies of the 21st century? Describe the

salient features of Indian Government’s Mission on Nanoscience and Technology and the
scope of its application in the development process of the country. 12%

31 g % FENa % @ ame afwEt @ et w meegl giitefis geu 8, e w ot
forame g1 81 o 1 ot ufEieen & WEd1E % 99h W U1 ) 0 S % e g Y IuEl W
<= I |

Rehabilitation of human settlements is one of the important environmental impacts

which always attracts controversy while planning major projects. Discuss the measures
suggested for mitigation of this impact while proposing major developmental projccts. 12%
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15.

3 Gt § I dAA ) g1 F FRO VE § 91¢ ) TOGRdl 9 © 8| U &A1 H 9A1¢ F Broi | F=
FQ U T R Al T F R Sifaw @ Fw f qaia fi ety w o e

16.

17.

18.

19,

20.

The frequency of urban floods due to high intensity rainfall is increasing over the yearsﬁ.
Discussing the reasons for urban floods, highlight the mechanisms for preparedness to
reduce the risk during such events. 12

U 39ET Ye-uA WIRERY (o o TWHo To) % Gl o Ty H, IT@VE & 3Fhi TIHI W &1 & |
e Wedl ) "SR % GHIG ol HH HA S [OT¢ UL SH AT U R FE=l hiferg |

With reference to National Disaster Management Authority (NDMA) guidelines, discuss
the measures to be adopted to mitigate the impact of the recent incidents of cloudbursts
in many places of Uttarakhand. 1272

‘30 e’ T T YRR el o1 SR W STl gnell o foes 8 wEjarel % forg foRan S @1
YR hl FEaredl & ecfticn wHE A e i)

The terms ‘Hot Pursuit’ and ‘Surgical Strikes’ are often used in connection with armed
action against terrorist attacks. Discuss the strategic impact of such actions. 12

“Red To R A AGFATR T ATEiorE Er F ¥ W w1 R
I FYT F feveror Fif

“Terrorism is emerging as a competitive industry over the last few decades.”
Analyze the above statement. 12

g &8 T T2 3% % Y WA T F FRO W WA U A | awreet #in geee
#$ et @ Wi | g 2|

Border management is a complex task due to difficult terrain and hostile relations with
some countries. Elucidate the challenges and strategies for effective border

~ management. 12%

- s T e W e i w1 R TRRRE g T T S R w96
i 1 g B e € A s gRRE R WK gen @7 Iwde wd # fEfa ww ¥ foe geeswd
g gAY

Use of Internet and social media by non-state actors for subversive activities is a major
security concern. How have these been misused in the recent past? Suggest effective
guidelines to curb the above threat. 122

* % %k
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e a5 : &7 w2 SeFaT 3% : 250
Time allowed : Three Hours Maximum Marks : 250

¥A-3 & ferg fafdre srew
FYIT TFT T I 37 & GF AT Gedw HFV Fl SAgE® 0F
599 atm yo7 & 5 R ik st A 4 89 E
Tt g7 a8 |
Y% Y & 3% 39 g3 Ry & 1
vl & I 41 ArEAw A for@ T SR [Gae 35@ e Yav-g7 # fFar g 8 3 39 Arew &1 e

IPE TH-TE-IN (7. H1.T.) G & J@-y83 W Hfaba [l €7 ¥ far Frr Jnee | Iighaa aream &
AR 377 el aream F for@ 1 I | FE HF 781 /A |

w7l 7 ez dimn, @l @AY 8, #1 3gEr fsar AT R |
Yo7 -E- I GrawT B QI SigT 537 5 77 Iq% ¥ | L &9 & 1l T e /|

Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All the questions are compulsory.
The number of marks carried by each question is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly
struck off.
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T} FeAl & I T T FEF 200 %I G e T 87 TR | IN #) ArAeg ITH s
& sifer mEeaqel 8 | gt T % TH 3F E |

Answer all the questions in NOT MORE THAN 200 words each. Contents of the answer are
more important than its length. All questions carry equal marks. 12 é x 20=250

Ql. ' % W3 ¥ 9RA H 3w dafg A vha & avia srmm Feiid= gafy & @
T {1 ST R | w1 A9 39 foeR @ HEwd € ? 9 ST F gueH A a% wed
g |
The nature of economic growth in India in recent times is often described as

jobless growth. Do you agree with this view ? Give arguments in favour of
your answer. 12%

Q2. ITfiv &Ff # FfA W R A HT J6-9 HA § GYUF T T Gl
® | WA # 3 &5k <l AR H % I9gw ITT YA 5T F=41 it |
Livestock rearing has a big potential for providing non-farm employment and

income in rural areas. Discuss suggesting suitable measures to promote this
sector in India. 12%

Q3.  Wa § HRufY unwi % wedE sitEw TR A 2@ 7Y, Pk w s
el & forw Sy sl &7 78 ], war wfag Sy =i o ufy %1 @ w3 &=
seral fean s =nfae ? sues wa.-foue &1 awareRS l-;gﬂicm HIT |
In view of the declining average size of land holdings in India which has
made agriculture non-viable for a majority of farmers, should contract

farming and land leasing be promoted in agriculture ? Critically evaluate the
pros and cons. 12%

Q4. ‘fefoea ynd wEHA W IAGHdl I AW & ggH ° fhaFl &I FE TR
TEEdl L Gdl & 2 GTHN 4 39 Gr-Y § I $5H 33T 8 ?

How can the ‘Digital India’ programme help farmers to improve farm
productivity and income ? What steps has the Government taken in this
regard ? 12%

Q5. Iy @ I (F&AA.) & g Fima geifiehl @1 gfarae yra § gEifafear
% Tigvd H1 o8 YR qitada T Tehar & ? == ity |

In what way could replacement of price subsidy with Direct Benefit Transfer
(DBT) change the scenario of subsidies in India ? Discuss. 12%

|c-Avz-0-TTDZ 2




Q6.

Q7.

Q8.

Q9.

Q10.

WRd § @ TEER Jam &1 faswm w1 6 18 4 fauvd et gfd geen yeue |
1S9 § ? RN 39 AT1aTl W g U # $-nfUey HEEe € Hehdl @ 2

What are the impediments in marketing and supply chain management in
developing the food processing industry in India ? Can e-commerce help in
overcoming these bottlenecks ? 1 2%

g % foru wdliat & 3991 3 BIe F 991 ¥ @R F I § Wepd (IVE) INT
& fEam % ot yyam-ager 3R T9¢ & 9TE 59 W EEE e 3 | 39 qEd g,
T TR ST 3 T 1 T Hif |

Craze for gold in Indians has led to a surge in import of gold in recent years
and put pressure on balance of payments and external value of rupee. In view
of this, examine the merits of the Gold Monetization Scheme. 12%

“ g o SIS FTHA <l TheTd], iVl WRA HRHA MR A HW gani i
averal W At et B |7 aehee geften o |1y et it |

“Success of ‘Make in India’ programme depends on the success of ‘Skill India’
programme and radical labour reforms.” Discuss with logical arguments. 12%

R Al il TR ATl 3R ¢E § B & AR I & 1 HRH FdIg, o
T & 239 ygfa & arfiy fagq Scuesw! ot grafg e & forg s fafgard
3°?

To what factors can the recent dramatic fall in equipment costs and tariff of
solar energy be attributed ? What implications does the trend have for the
thermal power producers and the related industry ? 12%

e TR e ¢ F iy onfde I (wm3ds.) same fawm, fafamio
afit fafal & T @red & | 39 Gl S W od §U, TH.E. S, & HU e
4 gfg 0 & smawEda @ | FouE, e wEE o e % dew #
w332, <l herdl B WAH B ol Ge W == hIfT |

There is a clear acknowledgement that Special Economic Zones (SEZs) are a
tool of industrial development, manufacturing and exports. Recognizing this
potential, the whole instrumentality of SEZs requires augmentation. Discuss
the issues plaguing the success of SEZs with respect to taxation, governing
laws and administration. 12%

C-AVZ-O-TTDZ| 3




Q11.

Q12.

Q13.

Ql4.

Q15.

St g, wee feufa-fFufon yonfet sk ofarg ufe-fFato smfeat’ @
T T FEHET 8 ? HAG WG IWE B FEATE HA GL G HEweniE
L. AT UA. Y. UE, HAHA 4 9T foha ol ! 2@ar ], 38 W ==t hifoe |

What do you understand by ‘Standard Positioning Systems’ and ‘Precision

Positioning Systems’ in the GPS era ? Discuss the advantages India perceives
from its ambitious IRNSS programme employing just seven satellites. 12%

furens 49 % S92 &7 &, S T8e & g geie 9 8 yeud e o
TaaT 8 2 Wt yEel W Sl hitwe, S Y JAFEYE FEH H Hifes HR g
FaTER & oy SIgEEE F AT qG1 Eh |

What are the areas of prohibitive labour that can be sustainably managed by
robots ? Discuss the initiatives that can propel research in premier research

institutes for substantive and gainful innovation. 12-33
TR wRwAT & fau, gE0 i FTERs AT TAW WEHT  /eiH-3n9ii
gifeen % i afi gran ffgaed w ==t fifsw |

Discuss the advantages and security implications of cloud hosting of servers
vis-a-vis in-house machine-based hosting for government businesses. 12%

wrd & giaftes e fefieet agadt (f.F.dww.), ad 20 @@ 8@ s g
wreTEl W wEE SEwd R, g ¥ % vfa Fm A werd F ww wfewemed
gRER wifed € @ 2 | g-dia aedian & i W siweeEEg (SeeE) @
e ®Y ¥ ITeTey HFH & 9 3R favy w ==l Hiw |

India’s Traditional Knowledge Digital Library (TKDL), which has a database
containing formatted information on more than 2 million medicinal
formulations is proving a powerful weapon in the country’s fight against
erroneous patents. Discuss the pros and cons of making this database
publicly available under open-source licensing. 12

a7 77 3R e T g Uy (T A ) wreimat wosi 3EE qd i
Frorrent & fufya ofomt & s @ ==t Hifse | T T F afweo § S
THTET S, it AFIEHT H e SAG GEEE 8 dehd & 2

Discuss the Namami Gange and National Mission for Clean Ganga (NMCGQG)

Lo |

programmes and causes of mixed results from the previous schemes. What
quantum leaps can help preserve the river Ganga better than incremental
inputs ? 12%

[c-Avz-0-TTDZ 4




Q16. R IUFEEY H qHeul hl G qGdl gs yarq aidt & | R o, 39 ywE &
AT 7 WA qAE (qeRdT) # agequ st 8@ | fafe vggett it ==t
it |

The frequency of earthquakes appears to have increased in the Indian
subcontinent. However, India’s preparedness for mitigating their impact has
significant gaps. Discuss various aspects. 12 é

Q17. HHATYUHR AlHIATETE AR 36 f=n $ I @ & & % g 9o (fww
wifwat) sfafm, 1958 (TL.UG.UH.H.U.) U 3 Autm 8, ed g sa &
GRT AHETTehR geaarl & "ol 3094 aid & | 39 e 6 SHH awst #®@
Hispaamard faly w € 7 I=an AEed F g0 oaw faen % ded § gEehl
STGTIHAT 1 FHTCAEHTCHS Jedieh hifeg |
Human rights activists constantly highlight the view that the Armed Forces
(Special Powers) Act, 1958 (AFSPA) is a draconian act leading to cases of
human rights abuses by the security forces. What sections of AFSPA are

opposed by the activists ? Critically evaluate the requirement with reference
to the view held by the Apex Court. 12%

Q18. fefew #ifewr & wem ¥ ufife wommw @1 9fome wRAE g9 &
3TS.UH.TR.0H. | W@ & M1 @ 8 | 3TE.UH.7E.0H. 1 3 3R 36 &7
(&) @ ® ? IE.UH.SME.UH. BHR o¥ Wl dNe & & fou fhw wew
WA Bl Hebdl B ?
Religious indoctrination via digital media has resulted in Indian youth
joining the ISIS. What is ISIS and its mission ? How can ISIS be dangerous
for the internal security of our country ? 12%

Q19. fiwe &= § w2 3am % fGH™ FH & TR & AR FAREE w1 g
ST S 3R framt, et ams faeamEt 1 gmEn & ugar 8, &1 faemH
(ST HET) B | FewMAN 3R TFEASE W S shigd Hid g, awuefl Igame!
ey & wwIfed AnTiEhT @i w3t anfeis dafy #i gemam § fH & aH
$I gures wHtfaat w ==t $ifse |
The persisting drives of the Government for development of large industries

in backward areas have resulted in isolating the tribal population and the
farmers who face multiple displacements. With Malkangiri and Naxalbari

foci, discuss the corrective strategies needed to win the Left Wing Extremism
(LWE) doctrine affected citizens back into the mainstream of social and
economic growth. 12;

C-AVZ-O-TTDZ| 5




Q20. foem w gu & wmeewim 3w % foiw man wega G 3, WA 1 W@ i H
i & fou ue “fefiea aomg oa” it smavasa @ | U™ AR gean Hifd,
2013 & YT =TT # T @ Tt gl w9 wga @ g, 39
Hifa 1 gETETEATS qedTh HITa |
Considering the threats cyberspace poses for the country, India needs a
“Digital Armed Force” to prevent crimes. Critically evaluate the National

Cyber Security Policy, 2013 outlining the challenges perceived in its effective
implementation. 12 é

|c-Avz-0-TTDZ| 6
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GENERAL STUDIES (PAPER-II])

Time Allowed : Three Hours lMaximum Marks : 2SO—I

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read cach of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limnit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must. be
clearly struck off.
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asft Tl F TR AR, YAF 200 W W @ A g1 I A fuemeg wer-dhe 7 et weegd @1 ad
vl & o A €

Answer all the questions in NOT MORE than 200 words each. Content of the answer is more
important than its length. All questions carry equal marks : 12%x20=250

1. grEER: 39 e R sEm o o § Jmed #) siE dn § v v @ @ ER 3 Jasl A emia @ ™ R
o & zdm & gEed danet € Rrena dgfs  wn ww §7 w0 a v e smm F B fstin
2 WA w27
Normally countries shift from agriculture to industry and then later to services, but India
shifted directly from agriculture to services. What are the reasons for the huge growth of
services vis-a-vis industry in the country? Can India become a developed country without a
strong industrial base?

2. “fem W B ARG ¥ sewitedm @wm (Smiee fefide) B wm ¥ wifd W 8, 3w e ™
sTe- a0 AT T A R R ad &1 @ o G w H i g% W@ 37 o A B o
& JuFd 9 o &, 3 wile waEl ¥ wa? wy fFey
“While we flaunt India’s demographic dividend, we ignore the dropping rates of
employability.” What are we missing while doing so? Where will the jobs that India
desperately needs come from? Explain.

3. ww i ag R 2 eu il % s wnfie Bt gee e Wit (APMCs) 3 i@ @ A Saw
& Faw @ aw fn R, 9o 3 owayg o & e @/ e e S
There is also a point of view that Agricultural Produce Market Committees {APMCs) set up
under the State Acts have not only impeded the development of agriculture but also have
been the cause of food inflation in India. Critically examine.

4, “wigt # wgEd aifi F oiew, = e F e W o= gl sy T B —sfle vy i A
FIE
wre § FY B gy A, W @e w ual AR Ff e vem w0 et G gl @ aeme
i FRREl w1 owAn g 87 e daiid o See afe ok A % o eI @ fem e
sene frar S weRan 27
“In the villages itsell no form of credit organization will be suitable except the cooperative
society.” —All India Rural Credit Survey.
Discuss this statement in the background of agricultural finance in India. What constraints

and challenges do financial institutions supplying agricultural finance face? How can
technology be used to better reach and serve rural clients?

5. uft s, yreer BN Eatgs § afra sfe s arefifm @ el afifem, 2013 vl s9ed, 2014 9
quret 7 21 T wfufran & @ ER |8 a-R geel g8 F amuE Redm? wwa # e 3 w5l
W I T GO E7 '
The Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and
Resettlement Act, 2013 has come into effect from 1st January, 2014. What are the key issues

which would get addressed with the Act in place? What implications would it have on
industrialization and agriculture in India?

C-RRN-A-ITHC/49 2
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10.

11.

12.

13.

qsﬁamﬁﬁammmwww&m%mﬁam&m%lﬁﬁatﬁ T® FEAL IFERA A
ﬁmﬁamr%ammmmzﬁﬁﬁmﬁmmvﬁaﬁmémélmmﬁ Ra 9 wYETH
w9z w an & fag 0 {Har 4 fym e o TEEl o W wd g7 w|l @i

Capitalism has guided the world economy to unprecedented prosperity. However, it often
encourages short- -sightedness and contributes to wide disparities between the rich and the

poor. In this light, would it be correct to believe and adopt capitalism for bringing inclusive

growth in India? Discuss.

gy B ddwfe et GRm) smafs @ oiasmst § B A gt (w9

wFfim) few v snnofi (sEEeian) T F) i w aafa W oewd 81 7 ghiEe v S fau &

I Wit i memeed F Tm FE awsta 3 @, @ s wife A e afie?

Explain how Private Public Partnership arrangements, in long gestation infrastructure
projects, can transfer unsustainable liabilities to the future. What arrangements need to be
put in place to ensure that successive generations’ capacities are not compromised?

Tyt e ufee fife Tt B oraerd’ & wom ‘At it sl @ aw el ¥ W wee A s AR
fifam il B awam @ e T Sy

National Urban Transport Policy emiphasises on ‘moving people’ instead of 'moving vehicles’.
Discuss critically the success of the various strategies of the Government in this regard.

maﬁqﬁ%ﬁmaﬁ%m(Woﬁomo)ﬁmmﬁmﬁm%lwﬁwaﬂ?mm
Ireyere R ddw J wwE w0 OIE InEE #7

Foreign Direct Investment (FDI) in the defence sector is now set to be liberalized. What
influence this is expected to have on Indian defence and economy in the short and long run?

e Rafemed 3 dpfe sgEam & ww e 1@ 2, s fgm § S o wwds TE @ P 6
T FOEAR FoEaumE, ntad @ g d R, o frefeer seie-TE §R W @ #) wndeTer fopf
Hifer |

Scientific rescarch in Indian universities is declining, because a career in science is not as
attractive as are business professions, engineering or administration, and the universities
arc becoming consumer-criented. Critically comment.

o AR @ v A gl 36 & R g wvEE, e d shefy-sad a9 & snfta %

ST B A £2 g of Fraaw ) wn Brenfifiat TR 87 @ weea A Rfe R @ s
=i Hifem|

Can overuse and free availability of antibiotics without Doctor’s prescription, be contributors
to the emergence of drug-resistant discases in India? What are the available mechanisms for
monitoring and control? Critically discuss the various issues involved.

Advra war ¥, Aew T afred @ vew & o € 3 3 getah w1 uw da @ 9 §) whfg, 32
n omn Ifid % 9 @R @ w ke A

In a globalized world, Intellectual Property Rights assume significance and are a source of
litigation. Broadly distinguish between the terms—Copyrights, Patents and Trade Secrets.

T Yo To Tho Ho o o & snefy vunfim wrehr IRz ofk waen rwm el @ sgEE S1d w@r s
wfgw, waft @7 Hfez % e § il frome st 27 i wafy 3 g wma ) o=l s 4 gfe @
=i el

Should the pursuit of carbon-credits and clean development mechanisms set up under

UNFCCC be maintained even though there has been a massive slide in the value of a carbon
credit? Discuss with respect to India’s energy neceds for economic growth.

C-PRH-H-ITUC/49 3 [ P.T.O.
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g #l I i frear, wifos safy, do s o wRs ol @ s o A gl d o  ww 3
A T 1 UF AI0E e W (THo o WHe To) ¥ Rrarat 2010 wrtss gt w v ¥
R §Y AT A T A S e i S e genimt @ fved & R dard < s w et fifmg

Drought has been recogrized as a disaster in view of its spatial expanse, temporal duration,
slow onset and lasting effects on vulnerable sections. With a focus on the September 2010

guidelines from the National Disaster- Management Authority (NDMA), discuss the
mechanisms for preparedness to deal with likely El Nifio and La Nina fallouts in India.

ST T ) il ) sl 3 Y, et wteoia T sieen e R a1 @ 31w

1e6.

17.

18.

19,

20.

T-Fra (fredge) ® safen Fue-afie ofe gaat 3 wiaehy wmEt w =i SR
Environmental Impact Assessment studies are increasingly undertaken before a project is
cleared by the Government. Discuss the environmental impacts of coal-fired thermal plants
located at coal pitheads.
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“The diverse nature of India as a multi-religious and multi-ethnic society is not immune to
the impact of radicalism which is seen in her neighbourhood.” Discuss along with strategies
to be adopted to counter this environment.
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International civil aviation laws provide all countries complete and exclusive sovereignty over
the airspace above their territory. What do you understand by ‘airspace? What are the
implications of thesc laws on the space ahove this airspace? Discuss the challenges which
this poses and suggest ways to contain the threat.
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How does illegal transborder migration pose a threat to India’s security? Discuss the
strategies to curb this, bringing out the factors which give impetus to such migration.
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In 2012, the longitudinal marking for high-risk areas for piracy was moved from 65 degrees
cast to 78 degrees east in the Arabian Sea by the International Maritime Organization. What
impact does this have on India’s maritime security concerns?
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China and Pakistan have entered into an agreement for development of an economic
corridor. What threat does this pose for India’s security? Critically examine.
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